
 

 

Correction of errors 

Pag. 3 

Equation 1

0

ln
t

t

P
r

P

 
  

 
 must be writing as 

0

1
ln

tP
r

t P

 
  

 
 

Equation 0      100%  r m    must be writing as 0 100%      r m    

Equation 0     pNPP Pm  must be writing as 0      mpNPP P  

Equation      G mPm  must be writing as       mG mP  

Equation 

 
 

0

0

0

0
00

1 0 (  1  )
      

(  ) 

t m tt
m x

t

P e
Pm P e dx Pm

t t t









  
   

must be writing as 

 
 0

0
0

0

0
0

0
00

1  (  –1  )
      

(  –  ) 

t m tt
m x

m m

t

P e
P P e dx P

t t m t









  
   

 

 

 

 


